
National Radio Astronomy Observatory

Charlottesville, Virginia

Mey 3, 1968

To:

From: Arthur M. Shalloway

Subject: Revised Functional Description of NRAO Correlation Receiver Model II
(See Original Description September 11, 1967)

The following information is being made available for those planning
to use the receiver or program computers to process its output data.

SPECIFICATIONS OF NRAO CORRELATION RECEIVER MODEL II:

Number of Channels:
Total - 416

Correlation Channels - 413
Receiver Power Channels - 3

Configurations:
1. Receiver A

Receiver B
Receiver C

2. Receiver A
Receiver C

- 192 Channels Autocorrelation
- 192 Channels Autocorrelation
- 29 Channels Autocorrelation
- 384 Channels Autocorrelation
- 29 Channels Autocorrelation

- 1 Channel Power
- I Channel Power
- 1 Channel Power
- 1 Channel Power
- 1 Channel Power

Available on
Receivers A, B & C.

Bandwidths:
1. 10 MHz
2. 5 MHz
3. 2.5 MHz
4. 1.25 MHz
5. 625 KHz

/

6. 312.5 KHz
7. 156.25 KHz
8. 78.125 KHz
9. 39.0625 KHz

Available on
Receivers A & B.

Dump Times (Integration Time Available in Correlation Receiver Prior to Dumping Data
Into Computer):

1 sec. and 10 sec.

Switching Rates:
1 Hz - 50%/50%
5 Hz - 50%/50%

10 Hz - 50%/50%
1 Hz - 90%/10%
5 Hz - 75%/25%

(Signal/Reference) Duty Cycle
(Signal/Reference) Duty Cycle
(Signal/Reference) Duty Cycle
(Signal/Reference) Duty Cycle
(Signal/Reference) Duty Cycle

Blanking Times:
4 to 26 ms. in steps of 2 ms.
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Switching Modes:
1. Load Switching With continuous or separate calibration, gain modulator
2. Frequency Switching switching, and synchronous detector switching for analog

continuum recording

Autocorrelation Data:
Signal and reference output data are provided as two independent groups of

numbers. Thus, a continuous bandpass correction can be provided in the computer.

Display:
Any channel - signal or reference - plus the six power counters can be displayed

in decimal.

Test Signals:
Square waves from 39.0625KHz to 10MHz can be fed into clipper inputs. Special

internal tests available in digital system. Internally generated noise source can
be fed into IF input.

Reference should be made to Memo: Input Interface - 300' and 140' On Line
Computers by A. M. Shalloway dated October 18, 1966 for detailed information on transfer
of data from the receiver to the computer. The following tabulation lists all of
the output data available from the receiver and its format.
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